Esercizi di riepilogo sulle equazioni

Risolvere le seguenti equazioni.
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Sistemi goniométrici

Risolvere i seguenti sistemi.

- x=Z24Z v=+Z tkn
336 IR 4772 6
T T
LSenz)c+coszy=% ,Y=§+k1t y=i§+2kn
x+2y=£ ngn—4k75
< 3 3
T
Lsen§+cosy=\/§ y=—€+2k1t
( x=o+2kmw
—y=X x = 2kn
*x o ; y=oc—%+2kn
T
= y=—=+2kn
senx++/2cosy=1 : 7 a:arcsenﬂ; Togen
5% 2
' = T x=m—2kn
Fty=3T x =2 +2kn
9 2 ) .
=—+2k
senx+seny=1 y=7n—2km Y=y Tik
X~ =X x:£+2k7t rx:Zn+2kT[
y 3 5 | 6
senx——J—gcos —l V= g+2k7t y= % T+ 2kTT
L 2 VT
_T .
it 3 x =2kn x=2 {4+ 2kn
3 6
T
senx+cosy=— ¥ Fizg 2k y—§+2kn




5
{x:£+kn {\:T—t+2kn X ==T+ 2k
] T >
= ==~k =2m-2kn  |y=7-2k
sen2x+cosy=0 L_\ 5 km 7=6 n— 2km E T
( n !f Tt oD A% [ 13 .
2x+y=z | X =2 +kn ,\~Fn4_kn |\ Fn+_kn
EE 3 ‘ “1 | : ’ i )3
ly=—=m— 2k ;\‘:fln~4k7t y=——T — 44
cosx+seny=—7 5 4 § 12 12
)c—y=E |x = + kTt 1[\--,.n.+A-7
6 ] 0
Bm - .
1 y= —+ KTt }‘_\ kTt
senxcosy=— 1 3
(3 f
f 3 x=>n+dkn  |x=-Z+2k
4 | 4
x—2y=——% ] ) J
305 RSN -2 |p=x.2
ly=>n+2%kn ly=—+=kn
\cosx—cosy=0 17~ 4 17~ 4" 3
T, , 0
fx =—=+k=
346 2x+y=m7 ;\ 8 2
tg2x—tgy=2 %_v:‘—;nw\
T 1 3 T
m x—)’:‘z‘ %A\::‘~n+2/\'n E\:I--f’/\'n
3senx—cosy=\/5 %A\’:TI{“%}/(TK 1_\-:—7—j+2)
x=E £k 3 1 +2kn
ma senx—cosy=1 | x =2 +2km; x=2m+2
| o)
sen’x—cos? y=0 ly==n+2hT \::}Tt+ 2h
; -
[,\‘:E+2/\'7t lx= T4 2km; x =21+ 2%
senx+cosy=1 | 2 ‘ 6 6
m 7 ‘ T
sen? x+3cos?y—1=0 Iy:’—fﬂm |y=%3+2hn
x=Z 4+ 2km; x=2 742
logsenx—logcosy=0 i GRS S | e
350} 3 ‘s n
Senxcosy=— ly=*—4+2hm
4 t 6
Dsenx _9-cosy — () [_\-:§+2An v= 27+ 2km \:—§+2kn: r=—> 1+ 2
@ ) )
2 _ )
sen” x+cos® y=1 ‘y:t%mz/m l.\~:t§+2/m



